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QUESTION 1

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point.

Hot Area:
Answer Area
Yes No
A switch sends unicast packets to one destination port only. O 0
A switch floods ports if it does not know where to send a packet O O
A switch sends broadcast packets to the uplink port only. O )
Correct Answer:
Answer Area
Yes No
A switch sends unicast packets to one destination port only. © 0
A switch floods ports if it does not know where to send a packet | O | O
A switch sends broadcast packets to the uplink port only. O |’D|
QUESTION 2

An Action Center alert recommends that you enable Windows Firewall.
After enabling the firewall, you can no longer access websites.

Which two TCP ports should you add exceptions for on the firewall? (Choose two.)
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A. Port 21

B. Port 23

C. Port 25

D. Port 80

E. Port 443

Correct Answer: DE

Port 80: HTTP Port 443: HTTPS

QUESTION 3
This question requires that you evaluate the underlined text to determine if it is correct.

Every router today is "TCP/IP" enabled, which is an industry-standard protocol that you use on the Internet and for local
addressing.

Select the correct answer if the underlined text does not make the statement correct. Select \'No change is needed" if
the underlined text makes the statement correct.

A HTTP

B. FTP

C. SNMP

D. No change is needed

Correct Answer: D

QUESTION 4

To which IP configuration does the CIDR notation 192.168.1.1/25 refer?
A. 192.168.1.1 255.255.255.64

B. 192.168.1.1 255.255.255.1

C. 192.168.1.1 255.255.255.32

D. 192.168.1.1 255.255.255.256

E. 192.168.1.1 255.255.255.128

Correct Answer: E
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| Subnet Calculator
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Reference: http://www.subnet-calculator.com/

QUESTION 5

A Layer 2 device that connects multiple computers within a network is a:
A. Repeater

B. Switch

C. Router

D. Packet

Correct Answer: B

Layer 2 switching uses the media access control address (MAC address) from the host\\'s network interface cards
(NICs) to decide where to forward frames.
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